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UNIT -1
1.  Which of the following symbols should be placed in the blank spaces respectively (in the
same order from left to right) in order to complete the given expression in such a manner
that “S < X and “N > P” definitely hold true ?
X N Ox>2S_ P
(@) >=> (b) =2,= (¢) >2,= (d) >>2

2. Which two numbers, from amongst the given options, should be interchanged in the equation
to make it correct ?

(6) + 12+ 4 x~[81 —28 + 2 +24=143
(a) 6and 4 (b) 6and 12 (c) 4and 24 (d) 12 and 24

3. Statement : Excessive use of social media leads to decreased face-to-face social interaction.
Argument : This statement overlooks the potential benefits of social media, such as
facilitating new forms of social interaction and community building.
What can be inferred from the argument in relation to the statement ?
(a) The argument strengthens the statement.
(b) The argument weakens the statement.
(c) The argument refutes the statement.
(d) The argument is irrelevant to the statement.

4. Statement : Regular exercise contributes to overall health and well-being.
Argument : This statement is supported by numerous scientific studies showing the
positive effects of exercise on physical and mental health.
Which of the following option best describes the relation between the statement and the argument ?
(a) The argument strengthens the statement.
(b) The argument weakens the statement.
(c) The argument refutes the statement.
(d) The argument is irrelevant to the statement.
5. Statement : Implementing a four-day-workweek will increase employees’ productivity.
Assumption : Employees will be able to manage their workload efficiently within the
reduced time frame.
Which of the following options best describes the relationship between the statement and
the assumption ?
(a) The assumption is irrelevant to the statement.
(b) The assumption refutes the statement.
(c) The assumption strengthens the statement.
(d) The assumption weakens the statement.

6. Statement : Promoting gender equality in education will lead to greater economic prosperity.
Assumption : Equal access to education for all genders encourages innovation and
productivity, thereby contributing to economic growth.
What can be inferred from the assumption in relation to the statement ?
(a) The assumption refutes the statement.
(b) The assumption weakens the statement.
(c) The assumption is irrelevant to the statement.
(d) The assumption strengthens the statement.

7. Which of the two mathematical signs should be interchanged in the given equation to make
it mathematically correct ?

12+30+6—-15x23=068

(a) +and-— (b) —and + (¢) —and x (d) +and x

Series-A ) CSA




e -1
1. T=afafea fogl 78 =9 9 fug Tl @ w s o S (3EH w0 4 99 9 ) e fe
T “S < X7 IR “N > P qufd: T & 2
X N _0=S P
(@ > => (b) =2,= (c) > 2,= (d) >>2

2. feuwmu wrfiertor 1 G oA o fore foremedl § € 1S 19 Y €1 GEAnal ol IR e ITfeu ?

(6 + 12+ 4 x~[81 —28 +2 +24=143
(a) 634 (b) 63T 12 (c) 43T 24 (d) 12 3R 24

3. hYA : GHTNTR SHEER AT (RIS HiTS3T) hi STcafereh ST SHhd HdTe H il a1dT & |

T : I8 HUYT Al Hifga o gunferd ol h1 S et 8, S fop T3 IR o '
IAaER 3R gyer i 61 grm s |

Y doh U A o Ty § o7 5y fehTett ST dehat 8 2
(a) Teh U h HTed LA 2 | (b) Teh HH I HAS HLAT 2 |
(c) Toh HYT B TS BT 2 | (d) T HUT % He H TAES § |

4. A : Fafia s age e 3 R A E JeH R |

b : IS B 3Th] Tk agqﬂimw@a%sﬁmﬁf@@nﬂmwmw%
HehNIcHe TS h] €30 & |

Fr=forfaa o @ = a1 foshed SUm 3T d% & Ty 1 T8 370 W T HLAT 8 2
(a) T HYU I A LT & | (b) Teh HYU I HAR LT & |
(c) Teh HYT H TS HLAT 2 | (d) T HUT % He H JTAES § |

5. HY : IR-TCTH-HT THIE Bl AR H HHATNAT hl Icargehar H ghg R |
YO : HHER] H T T o 31T 3197 HEWR i C&TdT B SHafeqd il § TeTH gl |
Trafafgd 9 9 S 91 faecd %4 T 9ron & 19 o Gra- ] 98 3753 U I hidl g ?
(a) YT oA & 3TUTEfT 2 | (b) YT S T T Hid! 2 |
(c) RO e I Hled Hid & | (d) IO U ] HHI Ll 2 |

6. U : Treq # <ifireh wHHaT bl seran < anfie TG § gfg e |

greon : ) foimm o foru farerr <h | SUSTsydT TETRIR 37 IcTeshdl Sl 9 TdT el |, ey
31 formma H Are BT 2 |

T O S o Tra-l | o7 frsshy frerett <t gehan 2 2
(a) ETROT YT T TS Hid! B | (b) ©TUT YT T HAIR HL 2 |
(c) EIROT YT ¥ TS 7 | (d) ST S 1 T HL ¢ |

7. fewmu gefiertr 1§ 19§ < nivrd gl w61 319w J see S for g g mftrde ®9 9 w98
B ST 2
12+30+6—15%x23 =68
(a) +3MW— (b) — 3+ (c) —3M x (d) + 3 x
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11.

12.

13.

14.

15.

Statement : Pollution levels in the city have risen, raising concerns about public
health and environmental degradation.

Course of action : (1) Implementing stricter regulations on industrial emissions.
(2) Launch public awareness campaigns about pollution.
(3) Impose a temporary ban on private vehicles use.

Which course of action would be most effective in resolving the problem ?

(a) (1) only (b) (2) only (c) Both(l)and(2) (d) (2)and (3) only

Statement : Domestic demand has been increasing faster than the production of
indigenous crude oil.

Conclusions : (1) Crude oil must be imported.
(2) Domestic demand should be reduced.

If the statement is true, then which of the conclusions will follow logically ?

(a) Only (1) (b) Only (2) (c) Both(l)and(2) (d) Neither (1) nor (2)

Statement : Ability is wealth of the poor man.
Conclusions : (1) A poor man is always able.
(2) A poor man has the ability to earn wealth.
(3) A wealthy man is always able.
(4) A poor man can earn wealth if he has ability.
Choose the conclusion which logically follows the statement.

(a) (4)only (b) (3) only (c) (2) only (d) (1) only
Question  : Which statement supports the idea that reading regularly improves cognitive
function ?

Statements : (1) Reading enhances vocabulary and language skills.
(2) Many people enjoy reading as a leisure activity.
(3) Libraries offer a wide range of books for borrowing.
Which of the given statements justify the nature of question ?

(a) (3) only (b) (1) only (¢) (2) only (d) All of these

If a, b and c are different positive integers and 32 x 3% x 3¢ =729, then 32 + 30 + 3¢ s :

(a) 81 (b) 39 (c) 36 (d) 37

If (a+b):(a—b)=1:5, then (a%> —b?) : (a% + b?) is equal to

(a) 2:3 (b) 3:2 (c) 5:13 (d) 13:5

What is the largest integer n for which 40 ! is divisible by 3" ?

(a) 16 (b) 17 (c) 18 (d) 19

Statement : Due to heavy rainfall, several areas in the city are experiencing
waterlogging, leading to traffic congestion and inconvenience to
commuters.

Course of action : (1) The city municipality should immediately deploy additional
personnel and equipment to clear the waterlogged areas.

(2) The city administration should issue advisories to the public,
urging them to avoid non-essential travel until the situation
improves.

(3) The city authorities should conduct a review meeting and take
necessary measures to improve for the future.

Which of the given courses of action would be most effective as per the statement ?
(a) (1) only (b) (2) only (¢) (3) only (d) Both (1) and (2)
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(a) et (1) (b) e (2) (©) (1) 3R Q)T (d) et (2) 3R (3)
YT : TICM Tl I o ICHTCA ohl qoiT H TS AT st 8 96 &l ¢ |
st ¢ (1) = I T AT HETENT |
(2) TS T H A =1 |
1 o W B, Tl i A1 ke dTfeheh &0 & LTI HTAT R ?
(a) b (1) (b) ket (2) © (HIAR@)TAT (&) T ()T Q)
HYT ;AT TS HGH o G -FE @ |
e (1) T T e g AR AT R |
(2) T TS ATEHT & I € -Grdt A hl Tl il & |
(3) Ueh Gt TP Sk gHIM A7 BIT & |
(4) Ife Trgar B a1 U TS oF i i e —Frafxd HAT TehdT B |
g Tassd g7 S afehes &9 A %A @ ®iod BT 7 |

(a) had (4) (b) Had (3) (c) Had (2) (d) e (1)
Y ;S |1 YA 39 fIaR 1 gme St © T fafia €9 9 uen @ [T wrisedt § gum
BT 8 2

HA : (1) TG H Yegraed! 3R HIST q&FaT H ghg Bt & |
(2) 9Ed 8 AN U T g SSThTl Tafafer s €T H d 2 |
(3) TR gwwﬁ@ﬁ'ﬁﬁgﬁ%ﬁ?%ﬁ%ﬂ%@%l

mmmﬁﬁﬁmssmmaﬁu@m d 3T & ?

(a) Had (3) (b) Haa (1) (c) Had (2) (d) A |t

Ife a, b 3TN ¢ fafdre eTeTes quifeh § 3T 32 x 3P x 3¢ =729 71, A1 32 + 3P + 3¢ HT M B

(a) 81 (b) 39 () 36 d) 37

I (a+b):(a—b)=1:58, a8 (a2—b?): (a2 + b?) TR &

(a) 2:3 (b) 3:2 © 5:13 d) 13:5

I8 T ST QUITh n T & Toreh foqw 40 1, 30 9 fyumsa 8 2

(a) 16 (b) 17 ) 18 d) 19

HYT : YT} STHTA % HRUT &L o s &1 H STAHe B @1 8, Foed Jramna «nferd 81 @i

? 3 et ol sl S @i g |

frnfafr (1) v Fi TRUITRT B TS It &1 Sl T B 6 o 3w Al

HIUAT I ITHON hl AT AT =R |

(2) &L IRMEH bl a1 1 Fafed dome ot =nfee fo Ja o fRafa amm= 3 &
T -t I 8§ & |
(3) TTEL o SATUHINT I Teh THIEAT o3eh B! ALY IR Hfersd o foTw gum s
ST IUTH Hid MY |
YU o IFTIAR <) T8 Feranfaferi 3§ & s stfess wuraremett 7 2
(a) e (1) (b) e (2) (c) e (3) (d) (1) 3 (2) gH
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17.

18.

19.

20.

21.

22.

Statement : Is it advisable to reduce the subsidy on cooking gas further ?
Question  : Which of the following arguments strongly supports the above statement ?
I.  Yes, any subsidy depletes the natural resources. Consumer only should
bear the burden of actual cost.
II. No, this may lead to sharp increase in commodity prices, thereby
adversely impacting inflation rates.
(a) Tonly (b) II only (c) BothIandII (d) Neither I nor II

The value of an artwork is determined by nothing other than the artwork itself. Spirit of art
alone touches the artwork to bring it into being. Artwork therefore in a certain sense is self-
attained.

Which of the following option best expresses the overall theme of the above passage ?

(a) Artis for the sake of aesthetic experience.

(b) Art is for the sake of art alone.

(c) Beauty lies in the eyes of beholder.

(d) Both (a) and (c).

For a class of 500 students, following diagram represents the number of students who failed
in different subjects. What is the percentage of students who failed in two subjects only ?

A m B
(A

(a) 6.8 (b) 7.8 (c) 31 (d) None of these

The income of X, Y and Z are in the ratio 12 : 9 : 7 and their expenditures are in the ratio
15:9: 8. If X saves 25% of his income, the ratio of savings of X, Y and Z is :
(a) 120:144:11 (b) 18:15:11 (¢) 11:18:15 (d) 15:18:11

Which of the following statements is not correct ?

(1) Sum of two irrational numbers is not always irrational.
(i) Difference of two irrational numbers may be rational.
(ii1) Product of two irrational numbers may be rational.
(iv) 1 is the first prime number.

(@) (1) (b) (i) (c) (iii) (d) (iv)

For the Assertion (A) and Reason (R) given below, choose the correct option :

Assertion (A) : Crude oil is abundantly found in nature.

Reason (R) : It is the main raw material for all automobiles.

(a) Both (A) and (R) are true and (R) is the correct explanation of (A).

(b) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(c) (A)is true, but (R) is false.

(d) (A) is false, but (R) is true.

The number of common tangents that can be drawn to two circles of radius 4 cm and 5 cm

is 3. Which of the following is true about the distance ‘d’ between their centres ?
(a) d=9cm (b) d>9cm (c) d<9cm (d) d=8cm
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frefarRaa & & o | fashew 59 et o Trgul W 1 39 Yehe HIdT § 2

(a) Hell, Hid - FPfd &g B @ |

(b) SHelT heret Hell o & o T Bl B |

(c) Tied gureh shi 3@l H BT § |

(d) (a) AT () GHT

500 feremfi=t bt wes e = foru, fFeferftaa s 39 forenfiian <6t dwen <6 yefdia st g s
fafr forerat & argefiof € | Farer ot forwai & atefiv fermfeiat w61 wfoema = & 2

AR

(a) 6.8 (b) 7.8 (c) 31 (d) 399 T HIE Tl

X, Y 3R Z 3 3T 3T 31U 12 : 9 : 7 8 3T 39eh = 1 I{UME 15 : 9 : 87 | Afg X 310t
3T T 25% =TT &, A1 X, Y 3TR Z 61 Sr=rd 1 31914 &

(a) 120:144:11 (b) 18:15: 11 € 11:18:15 ) 15:18: 11
fmferfiaa o 9 @ e T T R 2

(i) Q1 STITET STl 1 AN Hea SURE T8l 2T g |

(ii) T IR T T IR IHT B HhaT 2 |

(iif) S STUTET T3 HT UGS T B Tehell 2 |

(iv) 1, Ugefl 39T T&T 7 |

(@) (i) (b) (i) (c) (iii) (d) (iv)

= few T stfiepe (A) 3R SROT (R) % forw @t ferpeq g

IR (A) :  FH=A1 A Tehid H Tgarad H IR A1 2 |

HRT(R) @ I8 Gt AfcHIEEH & fu g w1 T 7 |

(a) (A)aﬁt(R)aﬁw%aﬁr(R) (A) T TE TR 3 |

(b) (A) 3 (R) SHI T &, AAfehT (R), (A) T Tt THEIHTT &1 B |

(c) (A)TXE, T (R) IR |

(d) (A) 3T, T (R) TR |

4 Teft e 5 Aeft s <6 <1 9l W 3 IV Tl - tETd il ST Hehdll & | 3ok Shral ob S <hl

Sl <d’ % IR FHTREd § § o 91 U T 8 2
(a) d=9Trt (b) d>9@rﬁ (c) d<9art (d) d= 8o
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23.

For the Assertion (A) and Reason (R) given below, choose the correct option :
Assertion (A) : Vaccines prevent diseases.

Reason (R) : Vaccines must be given to children.

(a) Both (A) and (R) are true and (R) is the correct explanation of (A).

(b) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(c) (A)is true, but (R) is false.

(d) (A) is false, but (R) is true.

Directions for questions 24 — 26 :

A, B, C, D, E, F and G are travelling in three different vehicles. There are atleast two passengers
in each vehicle — Maruti, Santro, Opel and only one of them is a male. There are two engineers,
two doctors and three teachers among them.

(1)
(ii)
(iii)
(iv)
(v)
24.

25.

26.

27.

28.

29.

C is a lady doctor and she does not travel with the pair of sisters A and F.

B, a male engineer, travels with only G, a teacher in a Maruti.

D is a male doctor.

Two persons belonging to the same profession do not travel in the same vehicle.
A is not an engineer and travels in a Santro.

How many lady members are there among them ?

(a) Three (b) Four (c) Five (d) Data inadequate
Which of the following is not correct ?
(a) E —Male — Teacher (b) B — Male — Engineer
(c) A —Female — Teacher (d) E —Female — Teacher
What is F’s profession ?
(a) Engineer (b) Doctor (c) Teacher (d) Data inadequate
Select the missing alphabet from the given alternatives :
D | D | D
D I F
I ? L
(a) M (b) N (c) P (d) R
Five books A, B, C, D and E are placed one on the top of the other starting with A as following :
E
D
C
B
A

Book A at the bottom is removed and placed on the top. This procedure is repeated two more
times. Which book will be in the middle ?

(a) B (b) A (c) C (d) D

For the Assertion (A) and Reason (R) given below, choose the correct option :

Assertion (A) : Gandhiji withdraw the Non-Cooperation Movement.

Reason (R) : There was violence at the Chauri-Chaura outrage.

(a) Both (A) and (R) are true and (R) is the correct explanation of (A).

(b) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(c) (A)is true, but (R) is false.
(d) (A) is false, but (R) is true.

Series-A 8 ' CSA
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(c) (A)TH g, AfehT (R) AR |

(d) (A) I, AT (R) TR |

T EEAT 24 — 26 % fow fRéw -
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(i) C Ueh HiEeT SikeT B 3TN 9 T&1 A Td F hl SIIE) & T1Y I01 T hied B |
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(i) D U ToT SHA 2 |
(iv) Ueh &l SHIETT O Gaferd a1 Xfth Ush &l oTe- 8 I T8l Shid & |
(v) AT JRE=r T8 & TG T AT R B |
24, I Y foradfl afgen ge= € 2
(a) o (b) TR (c) U= (d) 3T 39T
25. Fefafgada s aad w5 ?
(a) E—7%Y —forees (b) B — &Y — AR
(c) A —Tfeer — Rieeh (d) E —mfeer — e
26. F 1 TaEE F18 2
(a) AR (b) SfRX (c) Toreres (d) 3Tiehe 39T
27. e fospedi @ faeg avf gf
D|[D]|D
D|1]|F
1 | 2| L
(a) M (b) N (c) P d R
28. U & A, B, C, D 3T E, A ¥ TR H{d BT Tsh o HUL Uh - TR & T&ll AT & -
E
D
C
B
A
g i< Wl I A 1 8T ST 7 3R 30 ol S0 @ T S 8 | 78 ufshan g 9r 37k
e STt B | S i aeh ste H gt 2
(a) B (b)) A () C (d D
29. qﬁ%%qnqaﬁqesmmnﬁrwmﬁ%mﬁﬁwgﬁn
ARG (A) : el 3 e S A for |
HAO(R) @ <HI-=H e W g & |
(a) (A)ﬁr(mavﬁw%aﬁum (A) % HE ST 2 |
(b) (A) 3 (R) THI T &, AfehT (R), (A) ! T =men T 2 |
(c) (A) T E, WifehT (R) IR |
(d) (A) TSI, oifehT (R) TR |
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30.

31.

32.

33.

34.

35.

36.

37.

Consider the following statements :

I. A weighs more than B.

II. B weighs less than C.

III. C weighs the most.

If statements I and II are true, then statement 111 is :

(a) True (b) False (c) Uncertain (d) None of these

From the given options, choose that number which can replace the question mark (?) in the
given series to make it logically complete :

4,10, 17, 36, 69, 140, ?

(a) 277 (b) 278 (c) 282 (d) 283

Select the number from amongst the given options that can replace the question mark (?) in
the following :

2 11 8
98 | 28 | 8 68 | 20 | 55 27 | 2 | s6
14 17 9
(a) 30 (b) 21 (c) 35 (d) 42

In the equation

84 - (16)1.6 % 25.4 — 2?

The number in place of question mark (?) is

(a) 13 (b) 14 (c) 11 (d) 16

Kalicharan fills a box with oranges in such a way that the number of oranges added on each
successive day is same as the number already present in the box. In this way box gets
completely filled in 24 days. After how many days the box was 1/4™ filled ?

(a) 22 (b) 17 (c) 12 (d) 6

Mohini is standing at the South-East corner of a rectangular plot. She starts crossing the plot
diagonally. After walking half the distance, she turns left and walks some distance and then
turns right. Which direction is she facing now ?

(a) North-East (b) North-West (¢) South-East (d) South-West

Here a question is followed by two statements. Decide whether the data given in the
statements is sufficient to answer the question or not.
Question : Is ‘x’ even ?
x3
Statement — I : 5 is even.

Statement — 11 : 2%/; is even.

(a) Statement I alone is sufficient.

(b) Statement II alone is sufficient.

(c) Statements I and II together are sufficient.

(d) Statements I and II together are not sufficient.

The letters of the word ‘IMPOSSIBLE’ are arranged alphabetically in reverse order. How
many positions of the letter/letters will remain unchanged ?
(a) 3 (b) 2 () 1 (d) None
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30.

31.

32.

33.

34.

35.

36.

37.

Trafaftaa et w fomm hifse

. A®RSHBYMRHT |

. BRIGSHCHRAR |

1. C 1 9H 998 SI1eT 2 |

e HEH [ AN T &, AHST IR :
(a) & (b) & (c) IrFfeera (d) TTHHHE Tl

few T ferepedl & 30 w@ 1 gRHT S @ TE S@et i aifehes &9 T qUf A W fore v faw (2)
] TTTEATIT T Heh :

4,10, 17, 36, 69, 140, ?

(a) 277 (b) 278 (c) 282 (d) 283

few o forepeat @ @ 30 T w1 == hifse s Frferfaa o v fog (2) 1 afaeenfua o o
2 11 8

98 | 28 8 68 | 20 | 55 27 ? 56

14 17 9
(a) 30 (b) 21 (c) 35 (d) 42

TR

/4 - (16)1.6 x 254 = 2?

T yyaTah (8 (7) & WH WS § :

(a) 13 (b) 14 (c) 11 (d) 16

TR T U <hl Hall § 38 Teh WA & foh Yo shitreh fom 1 Sitg T el shl e |geh |
TECT § HIS[G Hall <hl FEAT < HHH § | 36 YehR Hgeh 24 Ted H qU WU SI1a1 & | Foha fom wmg et
1/4 {1 oft 2

(a) 22 (b) 17 (c) 12 (d) 6

Hifet Teh STAATHR @V & SA0-d B W T 7 | 98 forehul & I177a @ve bl I’ HET
E A 8 | e g =T o 1G98 1T AR g %o gl et & 3TN Ot il 3T g et
Blom g frafama g2

(a) -7 (b) STR-dfeem (c) feqor-d (d) gfeor-ufeam

T T T T 3T 356 f= g1 v feu e 2 | 7 hifs o shemt 7 feu e 3ifehe wod &1 ST
S o foTe vt & A T |

U9 T HH R 7

3
W—I:?WS&'I

HYT—I1: 23x @m0 B |

(a) YT [ 3ThelT I4TH B |

(b) e 11 JHehedT THTH § |

(¢) YT 1 3R 11 Ush A1 firereht 7o 2 |

(d) YT 1 3T 11 Tsh A1 firerent oft vaie 11 & |

31s¢ ‘IMPOSSIBLE’ % 37871 ! SUTHTAAT % 3ci¢ shH H oHa e foham SITa & | 3787/ 37er hl
fepaft feufert sraftefda @i 2

(a) 3 (b) 2 ) 1 (d) L T
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38. P, Q,R, SandT are playing a game of cards. P says to Q, “If you give me three playing
cards, you will have as many as T has and if I give you three playing cards, you will have as
many as S has”. P and Q together have 10 cards more than what S and T together have. If Q
has two cards more than what R has and total number of cards be 133, how many cards does

Q have ?

(a) 22 (b) 23 (c) 24 (d) 25
39. Thevalueof 13+23+ ...+ —(1+2+.....+n)is:

(@) (n®+n)n%+n-1)/4 (b) (n?+n)(1n%+n-2)2

(c) (n®+n)(n%+n-2)/4 (d) ®+n)@m2+n-1)2

40. Onadding 984 to a 3-digit number 4a3, we get a 4-digit number 13b7. The minimum number
c so that (13b7 + ¢) is completely divisible by 8 is

(a) 1 (b) 5 (c) 6 (d) 3
41. The total number of prime numbers in (25)'3 x (10)7 x (27)° is :
(a) 25 (b) 45 (c) 55 (d) 56
42. The remainder when (29)?? is divided by 28 is :
(a 1 (b) 2 (c) 8 (d) 14
43. P is a prime number greater than 5. The remainder when P is divided by 6 is always :
(a) 5 (b) 1 (¢) lor5 (d) None of these
44. Thevalueof 12+ ....+n®2—(1+....+n)is:
ngnz—lg ngnz—lg n(n+1)2 nzgn+1)
(@ 75 (b) 5 © 5 @ 35

45. Two different numbers, when divided by the same divisor, leave remainders 12 and 38
respectively. When the sum of the numbers is divided by the same divisor, the remainder is
6. The divisor is :

(a) 42 (b) 44 (c) 46 (d) 48
46. How many numbers are between 500 and 600 in which 9 occurs only once ?
(a) 17 (b) 18 (c) 19 (d) 20

47. In the two-line number series :

5 7 17 55 225

7 a b c d

the value of ‘¢’ is :

(a) 35 (b) 55 (c) 66 (d) 67
48. In the two-line number series given below :

-2 4 39 220

-5 a b c

the value of ‘b’ is :

(a) 18 (b) 20 () 21 (d) 24

49. For the below given question followed by two statements, decide whether the situation(s)
given in the statements is/are sufficient to answer the question or not.
Question : Eight friends A, B, C, D, E, F, G and H are sitting around a circular table
facing the center. Who is opposite to A ?
Statements I : D sits second to right of F and opposite to E. A is an immediate neighbour

of B and C.
II : G sits to right of E, who sits second to right of A.
(a) Statement I alone is sufficient. (b) Statement II alone is sufficient.

(c) Neither I nor II is sufficient. (d) Any of the statement I or II is sufficient.
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38. P,Q,R,S 3T T UH A 1 @A, @A R B | P, Q | HadT 7, “AfE 317 G ol 197 o U <l 8, il
M9 U I Id BRT ST T o U181 & e A § 3T9eh! i dTeT o Ui <ol § al 3AT9eh U1 3 &
T B T SH U@ | P 3R Q o UTE e fieimeht S 3R T 3 et Uil & 10 U 31feres 8 | 3fg
Q% IE R ¥ 2 I 3ATereh 8 T ot Uil <hl T&AT 133 B, 1 Q & I fohe Ui 8 2
(a) 22 (b) 23 (c) 24 (d) 25
39, 13423+ +m3—(1+2+..+n)HIAFE
(@) (n®+n)(n%+n-1)/4 (b) (n?+n)(1n%+n-2)2
(c) (n®+n)(n%+n-2)/4 (d) m®+n)@m%+n-1)2
40. <9 3TRI T TEAT 4a3 T 984 SIS T EH Teh TR 3Thi hl HE&AT 13b7 ITH Bl & | =HaH H&AT
¢ A1k (13b7 + ¢), qord: 8 & fanfora &r, 2
(@ 1 (b) 5 (c) 6 (d) 3
41, (25)13 x (10)7 x (27)5 T 19T T3] ! el T& 8
(a) 25 (b) 45 (c) 55 (d) 56
42, (29)22h! 28 T U & W ITHA &
(a) 1 (b) 2 (c) 8 (d) 14
43. P, 5T 9 AUSI T2 | P i 6 T farwiiord s T Hed ITH I9% &
(a) 5 (b) 1 (c) 1315 (d) 3H W I &
44, 12+ ... +n?2—(1+..+n)HAAT
2 2 2 2
@) ﬁnz_—ll ) £n3_—12 © ﬁ%& @ MH?,LQ
45. < fofira TRana 1 U &t TTeh T 9T 7 T ShAST: 12 9 38 T%hel §9d & | 59 39 T3 &
T ST I HTTeh W HAT &1 ST 8, ol A9BeA 6 Sl 2 | WIS &
(a) 42 (b) 44 (c) 46 (d) 48
46. 500 3TR 600 o &= H TH ferat ATt & AT 9 et Tsh IR AT & 2
(a) 17 (b) 18 (c) 19 (d) 20
47. -Y@r ge gt
5 7 17 55 225
7 a b c d
T HAAR
(a) 35 (b) 55 (c) 66 (d) 67
48. < S Q1Y weEn vt
2 4 39 220
-5 a b c
b’ HIAMA R
(a) 18 (b) 20 (c) 21 (d) 24
49. < feu e U g9 3R & 1 Q1 T 3 fore aa hifSte fop et d & g feufa(at) gw
I e % fou yate =
YA : 3BT A, B, C, D, E, F, G 3R H T el B o URa: &g I 3 Hg b 93 5T
TIASfaliasa g2
HUA-1 : D, F o gRff STR g T 3R E & faofid sa1 2 | A, B 3R C o Fepean vem 5 2 |
Il : G, Es & 91 & 31 A % il 3T gL T T g |
(a) YT [ 3ThelT IITH B | (b) Y 11 3TeheAT 9ITH B |
(c) TMIAE N IAHEE | (d) AT HE =R |
cEx R - Ty



50.

S1.

52.

53.

54.

55S.

56.

57.

S8.

The number of zeroes at the end of the product of 8 x 12 x 14 x 15 x 27 x 32 x 25 x 22 x 40
x 75 %125 x2121s:
(a) 8 (b) 9 (c) 10 (d) 11

Let different sets of numbers be denoted as follows :

I : Set of integers, N : Set of natural numbers, Q : Set of rational numbers, R : Set of real
numbers, W : Set of whole numbers

Which of the following options is correct ?

(@) NclcWcQcR (b) IcNcWcQcR

(c) [ cNcWcRcQ (d) NcWclcQcR

If a number is divided by 527, the remainder is 37. What will be the remainder if that number
is divided by 17 ?

(a) 3 (b) 4 (c) 5 (d) 6

If a> 1, then arrange the following in ascending order :

L A¥a’ 1. Ra*

L. 3/a v. 3/a’

(a) LIL I, IV (b) LI IV, III

(¢) IV, LIIL II (d) 1L L 1L, IV

In ‘ % 31 x49 x 34, if the digit in the unit place is 2, then the digit in place
of & & will always be :

(a) 2 (b) 7 (c) 2or7 (d 6

Four prime numbers are taken in ascending order. The product of first three of these numbers
is 385 and that of the last three numbers is 1001. The third of these prime numbers is :

(a) 7 (b) 11 (c) 13 d) 17

If n° is an odd number, then which of the following is definitely false ?
(a) nis odd. (b) n?is odd. (c) ndiseven. (d) n*is odd.

To answer how many students are there in a class, which of the following statement is
sufficient ?

I — The number of male students are 10 more than female students.

IT — Average of obtained marks of male and female students is equal.

(a) Tonly (b) II only (c) BothIandII (d) Neither I nor II

The ratio of salaries of Usha and Preeti is in the proportion 5 : 4. To know, what is Usha’s
salary which of the following statement(s) is/are sufficient ?

I — Preeti’s salary is 80% that of Usha’s salary.

IT — Preeti’s salary is ¥ 80,000 per month.

(a) Tonly (b) II only (¢) Neither InorII  (d) Data is insufficient

What is the remainder when 193! is divided by 20 ?
(a) 1 (b) 19 () 9 (d) None of these
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50.

S1.

52.

53.

54.

55S.

56.

57.

S8.

59.

8 x 12 x 14 x 15 x 27 x 32 x 25 x 22 x 40 x 75 x 125 x 212 % TUH®e o 31 H AT
A 8

(2) 8 ®) 9 © 10 @ 11

AT fo fafir e ag= ot frefafaa yeer & yefdia fren sman e

1 : qUTehi 1 =, N : STehfcieh T3 o1 GY=, Q : TRHT T3 o1 HY=9, R : IRfash
AT 1 A=, W : IO SIS 1 q=d

freforfiga & = @ fawer i 8 2
(@) NclcWcQcR (b) IcNcWcQcR
(c) [ cNcWcRcQ (d) NcWclcQcR

Ffe fopeht T 1 527 O T fean STt &, O S9% 37 a=dt 8 | A 39 Tt Wy 17 § 9T fea
T ol ATH FAT BT 2

(@ 3 (b) 4 (©) 5 (d) 6

Ife a > 1 81, a1 F=faRad =1 3T v § =aferd i

. 3¥a° . 3ia* m. a v. Jia®

(a) LILILIV  (b) LIL IV, III () IV, 1,1, 1T (d) 1L L IL, IV
DIPTSR Yoo ™ Sk =5 o e e
Hed BT

(a) 2 (b) 7 (c) 217 d 6

IR AT TR L 370 H ol 7% & | U i G@nsti 1 PHea 385 R Afm =
AT 1 RS 1001 7 | TE0 ST 9@ &

(a) 7 (b) 11 (c) 13 () 17
Ffe nS wes fowy g 7, a1 fefafad 4 6. a1 fifvsa 9 9 rerd g 2
(a) nfom g | (b) n2fomm g | (c) 3 EHE | (d) n*fomm g |

fepeft sheat W forenfelert <t spet Te ST i o fofw ot o & i o1 e e 2 2

1 — J&Y ST 3h1 T Aieet 1 & 10 316 2 |

11 — 989 3TR Al ST o JTHThI T STHd SR 7 |

(a) Hae | (b) a1 (c) 1 1IgMl (d) TAIMAE I
39T 3R St 3 A T AT 5 : 4 8 | 3T 1 A F1d B o foie. Fefetfaa & @ & a1/3
YT T B/3 2

1 — “fifer o1 S 391 % S <1 80 ferwr B |

11 — Sfifer %7 9/ 2 80,000 T ATE 2 |

(a) e 1 (b) Haet 11 (c) FAMITE I (d) 3TTeheT JTAH B |
1951 BT 20 | 9T ¢ T YHS T & ?
(a) 1 (b) 19 ©) 9 (d) 3TH H s &
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60. The marks obtained by R, N and V in a test series, is shown in the bar graph, given below :

5 g0

80T 70 70

o0l 60 60 60 60

a4 40 40

20+ |V[R(N V(R[N V(R[N V(R[N

. . Test I _ Testll Test 111 Test IV
Which of the following statement is correct ?

(a) N scored more marks than R and V in overall test series.

(b) V scored less marks than N and R in overall test series.

(¢) N and R scored more marks than V in overall test series.

(d) N and R both scored less marks than V in overall test series.

Instructions for questions 61 — 65 :
Percentage wise distribution of 1200 teachers, who teach five different subjects is shown in the
following pie-chart :

Commerce
15% | Maths
Science 25%
10%
English
oo/ Hindi

30%

Number of teachers who teaches subjects is :

Maths =M
Hindi = H
English=E
Commerce = C
Science = S
61. By what percentage, E should be decreased so that new E and C become equal ?
(a) 10% (b) 20% (c) 25% (d) 35%
62. By what percent the sum of H and S is less than the sum of E, M and C ?
1 1 2
(a) 325% (b) 335% (c) 355% (d) 40%
63. Consider the following statements :
I. M=C+S II. S=H-E
Which of the above statements is/are correct ?
\ (a) OnlylI (b) Only II (¢) Neither InorII  (d) BothIand Il
64. Consider the following statements :
I. H=2E-S) II. M=S+C M. H+E=M+C+S
Which of the above statements is/are correct ?
(a) TandII (b) II and III (c) MIand I (d) None

65. If M is increased by 8% and S is decreased by 25%, then the total number of teachers, who
teach both Maths and Science is :
(a) 410 (b) 414 (c) 526 (d) 540
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60.

fopeft oten @ # R, N 3R V RI 916 37ehi ol = fou 70 oIR 317k & guifen o 2

80- L 80

' 70 70
60 60 60 60
60 50 50
al 40 40
0+ [VIR|N V|R|N VIR|N VIR|[N

i 1 odiet 11 AT 11T ol v
Feafafga semin =
(a) 0 wrer s
(b) Tt wlredr @
(c) T lE sraet
(d) o wlien e

e 61 — 65 % ford i
Frafafiga us-smaE 1 12¢ o1 (faera #) i R

Tl 1 ag™ aTet FRrershi <Al HET B

TTford
61.

62.

63.

64.

65.

-M f&=&=H FUA = E ST = C fmm =5

E ! forae wfcrerd sre forarm SR arfer =1 E 37R C SR 81 S 2
(a) 10% (b) 20% () 25% (d) 35%
H 3R S 1AM, E, M 31K C % I11 & T wfcrerd s 8 2

(a) 32%91%1% (b) 33%9\%1% (c) 35%9\%1% (d) 40 gfasr

Frafefaa semt w o $ifsw

. M=C+S8

II. S=H-E

IYURE AT H 1 |T/T TE /B 2

(a) Had I (b) I 11 (c) AAMITEI (d) 13RI gHT
Frafefaa semt w o Fifsw

I. H=2E-S)

II. M=S+C

L. H+E=M+C+S

IYURE YT H Y I A1/F T B/8 2

(a) 131 (b) 13RI (c) MI3NI (d) wrE Tl
Ifg M =T 8% T e SR 31K S &t 25% 1 K ez S, nifvra e fasm g farsat =t
UgH aTc farereht i et TEAT B

(a) 410 (b) 414 (c) 526 (d) 540
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66. Select the odd group of numbers :
(a) (169, 5,144) (b) (289, 6, 361) (c) (529,7,676) (d) (256, 8, 529)

67. How many triangles are there in the following figure ?

(a) 16 (b) 14 (c) 13 (d) None of these

68. Number of parallelograms in the following figure is :

I I I

[
(a) 24 (b) 30 (c) 3 (d) None of these
69. Four figures out of following five are alike in a certain way. Which figure is different from
others ?
. o | of |e v ofe]e v
SRR
LN K ] [ ] [ 4 g [ ] [ ]
L ® L
(A) (B) ©) (D) (E)
(a) (B) (b) (C) (c) (A) (d) (E)
70.  Which of the following sentences are propositions ?
[:3+5=10
M:x+y=15
(a) onlyl (b) only II (c) BothIandII (d) Neither I nor II

71.  Which of the following sentences are propositions ?
I: x*>16,x <R
IT : Is it snowing ?
(a) BothIandIl (b) Neither InorII  (¢) OnlyI (d) Only II

72.  Select the option that is related to the 5™ number in the same way as the 2" number is related
to the 1! number and 4™ number is related to the 3™ number.

21:324::32:729::43 :?
(a) 1024 (b) 1089 (c) 1296 (d) 1521
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66.

67.

68.

69.

70.

71.

72.

forenTa T |g w1 g
(a) (169,5,144) (b) (289,6,361)  (c) (529, 7, 676)

(d) (256, 8, 529)

A1 i€ arrpfer # febe BT & 2
(a) 16 (b) 14 (c) 13 (d) 39 T HIg T
= <) 718 BTt e =gl o He &

[ I

L]

L]

L]

17 1 11
(a) 24 (b) 30 (c) 36 (d) 39 T ®Ig TE
= & TS i SRRl H ¥ =R SATehR{aat fohe FfTEd ThR ¥ 3TET § | S €1 ATeh(d 3 9
IEEE

° . I: . %gg. ofe]e .>§?.
(A) (B) ©) (D) (E)

(@ (B) (®) © (©) (A) (d) (E)
Ffeafafga d PR o e HUT 2 2
1:3+5=10
M:x+y=15
(a) Had I (b) I 11 (c) 13TRIIgH (d) FAITE
feafafga i PR T s HAT 8 2
I[:x2>16,x €R
11 : 1 el 81 &1 2 2

(@) I3RISHT  (b) QIR (c) sad 1

(d) I 11

39 forshed ol T ST wiwrell §ed & SHT YehR et & Ford ehr gerdl e vgel! g § aen

<reft T e gea 4 geiva @ |
21:324::32:729::43 :?
(a) 1024 (b) 1089 (c) 1296

19

(d) 1521
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73.

74.

75.

76.

77.

78.

79.

80.

Find the odd group of letters in the following :
ONL, RQO, HGE, TRP
(a) ONL (b) RQO (c) HGE (d) TRP

Statements : All doctors are lawyers.
Some lawyers are engineers.
All engineers are brokers.
Conclusions : 1.  Some engineers are doctors.
II. Some brokers are lawyers.
III. Some brokers are doctors.
IV. Some lawyers are doctors.
(a) Only conclusions I and III follow.
(b) Only conclusions II and IV follow.
(c) All the conclusions follow.
(d) None of the conclusions follows.

Which of the following critical non-verbal clue reflects an individual’s withdrawal from any
discussion ?

(a) Absence of head-shakes (b) Reduced eye contact

(¢) Smooth gestures (d) Relaxed postures

Mr. Kumar is new on the job. He thought he would like his boss when he joined but he is
not too happy about his boss’s working style. He found that his work is being micro managed
and whenever he tried to contribute in meetings, the boss would cut him off bluntly. Infact
he is feeling a little stifled. What should Kumar do ?

(a) request for transfer

(b) leave the job

(c) talk to other members and find out how they handle the boss.

(d) ignore and work knowing that you cannot do much about it.

Select the combination of numbers that forms a meaningful word in the following :
P N O A C L M I
1 2 3 4 5 6 7 8

In a certain code language ‘DUSTILY” is coded as ‘A106’ and ‘FICTION’ is coded as
‘C70’, then in the same code language ‘VIOLENT’ will be coded as
(a) ‘S70° (b) S75° (c) ‘R85’ (d) ‘T75

In a certain code language ‘MATCH’ is coded as ‘41238’ and ‘FLOOR’ is coded as ‘63669°.
In the same code language ‘DEVELOP’ will be coded as
(a) ‘4545367 (b) ‘4575367 (c) ‘4575356’ (d) ‘4545357

Select the option that is related to the fifth term in the same way as the second term is related
to the first term and fourth term is related to the third term.

TR4 : XC64 : : AC3 : EN27 : : FP6 : ?

(a) JA216 (b) JA316 (c) IB36 (d) JB125
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73. Trafefaa o i srer aug o1 5ra Hife
ONL, RQO, HGE, TRP
(2) ONL (b) RQO (c) HGE (d) TRP
74. HYT: G SR THIA G |
FS Thie AT |
Tt TR AT § |
fread: 1. po sl d |
. $S AT TohIA & |
1. FS TATA S 7 |
IV. TS Tehict ST § |
(a) ohaet frsehy I 3T 111 STTET i & |
(b) haet fIshy 11 3R IV STTHWT A & |
(c) Tt e e ohed 2 |
(d) 1S oft forsehd Frgeror T T R |
75.  Torifera § @ S o1 HEaqut wRiTes Hehd foreht Safeh o1 <= @ forg@ &1 wefia wtar 7 2
(a) ToR feerm <t spuft (b) JATET & T T HHl
(c) GTYRI {1 (d) 3™ Ha1
76. FHHRX HM WA 2 | & I8 AR 3T h1 off a1 G o fob a8 fawm yg@ =l weie i, Tg
PAR 370 T T <hl HrREC & S5d J9 el 7 | 3H AT & foh 3Heh S WX 4 o wElt
ST TET 2 3T A oft 35 A3k H ANTEH HEAT TR IHb ST bl TYE  FE@TS b 1Y TR feT |
qIEAd H 98 HeH Hegd T & | HHR I T HHT AT 2
(a) TGO T ST |
(b) TET-Y &I ST =TT |
(c) GEX HGEl § STqld X AT ST 1 TAE T =AM b of T TqE ! fohe TR
T hid & |
(d) <fe IR ITH STET FS TEH B Hehel I8 AT FTAT ! TR -G L B T Hf5d Bl STHT
=T |
77. 9 1 9 3 G S GAISH 1 99 LS Teh 1ok Y6 S @ ¢
P N O A C L M 1
1 2 3 4 5 6 7 8
(a) 2,7,8,6,4,3,1,5 (b) 7,1,8,5,6,2,4,3
(c) 4,7,5,2,6,8, 1,3 (d) 5,3,7,1,6,4,8,2
78. Ueh HfYad e WINT § “DUSTILY’ I ‘A106’ ¥ Ffed foham SITam & @@ “FICTION” =i C70”
T pfed fora ST 7, @1 361 e W1 § “VIOLENT % e feham ST
(a) ‘S70°H (b) ‘S75° W (c) ‘R85’ W (d) ‘T75° 9
79. Ueh MHead e WINT H ‘MATCH’ =1 ‘41238’ ¥ fed fohaT STt & AT ‘FLOOR” =i 63669
Spled feohdl AT 8 | IE1 e WINT H “DEVELOP’ i hfed foham SR
(a) ‘4545367°H (b) ‘4575367’ W (c) ‘4575356’ W (d) ‘45453579
80. 39 forehed ! YT ST did ug H 3ok I8! ThR Feferd 8 S| TohR Qo Ug UEe UG § Helled &
IR =T v el Ug & TEfa 2 |
TR4 : XC64 : : AC3 : EN27 : : FP6 : ?
(a) JA216 (b) JA316 (c) JB36 (d) JBI25
. S - T



UNIT -2

81. One-word substitution :
One who can be easily deceived —

(a) gullible (b) complacent
(c) punctilious (d) stupid

82. Choose a phrasal verb to complete this sentence :
They’re into the fifth day of negotiations to a deal.
(a) nail out (b) digup
(¢) hammer out (d) paper over

83. Choose the word opposite in meaning to the underlined word :
Why was he so indignant with you ?
(a) wrathful (b) angry
(c) indifferent (d) cool

Read the passage given below and answer the questions that follow : (Q. No. 84 — 86)

If he engages in controversy of any kind, his disciplined intellect preserves him from the
blundering discovery of better, though less educated minds, who, like blunt weapons, tear and
hack instead of cutting clean, who mistake the point in argument, waste their strength on trifles,
misconceive their adversary, and leave the question more involved than they find it. He may be
right or wrong in his opinion, but he is too clear headed to be unjust; he is as simple as he is
forcible, and as brief as he is decisive. Nowhere shall we find greater candour, consideration,
indulgence; he throws himself into the minds of his opponents, he accounts for their mistakes. He
knows the weakness of human reason as well as its strength, its province and its limits. If he be an
unbeliever, he will be too profound and large minded to ridicule religion or to act against it; he is
too wise to be a dogmatist or fanatic in his enfidility.

84. The word ‘blundering’ could be best replaced with :
(a) failing (b) serious
(c) fallacious (d) committing mistake

85. The correct spelling of ‘enfidility’ is :

(a) infidelty (b) enfidity

(c) infidelity (d) infeadility
86. The word ‘controversy’ could be best replaced with :

(a) discussion (b) debate

(c) arguments (d) speech

87. Choose the word which is nearest in meaning to the underlined word :
I find the sudden chill in weather appalling.
(a) clear (b) deadly
(c) unclear (d) dreadful
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88. 30 4 ‘vfq’ 3yem @ fAfifa s 2

(a) it (b) T (c) g (d) T
89. TTH ¥ ‘IGEIT’ WIsg 1 g TFI-Toeag 7 :

(a)3‘5’+‘&'>'é1=[ (b)3‘d+‘s?l=[ (c) ST + M (d) 3+
90. TTH T I H1 YI6g “IFeo’ I hI GIRETE & 2

(a) ‘T (b) TIE (c) ‘AR (d) “amE’
91. “Fruer w1 foeTm W B

(a) | (b) IFefe ORELISE (d) HEr=h
92. WY’ L H $TH § S 91 TIT T “HHE” 166 ST & 2

(a) 3 (b) El (c) 3 (d) 3
93, “fufet Tea-vd @, iR gqm|

-] Ae-ATAl I, -l IERfd T8 11° —

saa%ﬁug?sw%

(a) AT ATHR  (b) IHIAT HABR  (c) AR DR (d) Ui 3Tt
ftfeTiier STfse T o TR T TS T T o I I : (T T 94 H 99 )
:l'sciﬂ'lFﬁ?HT(NeWCrltlclsm)W@%Wmﬁme%wﬁﬁ%
FATET ST 1 Teh STETei T, T8 31941 8 T8 T 1941 3. H TehTINIG ST ShideH 6! I&ieh - ¢
= frfefere & rew foram o | ST Rvafimmerdt 3fit s 3 & 1960 $. 3 23 % 311 a% 39
afefcieh sifaftr shr Tgd SereIer o | % =D St T < 3 O ST ~5fe bt sfcrfofa
H St oft, foem i R fomm ta ama Hfd & Waerires e, gt 3MaR, THIR & Sfared,
w%aﬁas%:seﬁ TTfee o T -Hdl 3R i # Ffed Terifae va amifrs aﬁu@aﬁzﬁmﬁqﬁw
ST AT | 3k el =5 m@wsﬁr@r{wmmmﬁsmﬁm A FTET H Yol SATeAsR
Bt 3 3T 319+ wes fruer 3T s aquqq{ehwﬁriﬁaﬁm‘cﬁ% | |TTRfceh A3 1 THR Hid
=t TTer gt & 91 gk o =ifNd Hasy, 3299 3T ORI AT ITdsh W IS qlmwﬁﬁamﬁ
qﬁ%lﬂéwmmmaﬁwwmﬁmﬁwsﬁi fereal T forvere &1 ‘aist
S bl wee <t At | SHeHT FRR 77 | stifed SehTL < 39 TR T H o1, S fepelt i
] IGhT T Ueh TS IS e i 8 I1 IHeh! Ueh WE H=HT 1 e Hid @ |
94, TS AT o foTT 3TUSH T fore w1ee <1 w2 femam ST 8 2

(a) ‘New Criticism’ (b) “Critic’ (c) ‘Novel’ (d) ‘Story’
95. g fonfeRasm e qecreh o <arh & ’

(a) TepieTTe mferenifarer affeewhi (b) e TIT Hrgere

(c) I shiE™ (d) 9t
96. T AT 1 S T4 H Tordl o1l ot 3afereh o7 2

(a) @A I Tfdegdr (b) TTEAT T ITHHHAT T

(c) AHM I (d) 9HTEdT )T
97. I3 MAHT 30 Y fohgeh! SMuR AT B 2

(a) HHE I (b) ‘Wi’ (c) “TaTE h (d) TR’ 1 AT UTS hl
98. S JTATAT Sl I GHT AT

(a) TEIA 6T AT h HROT (b) DRI STTTIHAT o HROT

(c) wvﬁw—wéﬁg%rwésw (d) GO SATATET-3 8 6 gfafshan 9
99. 3mfEh fovafemmeri 3T Hictsl § T 1960 3. =5 ek o 37 <dh fohd e Jfafr <51 Sieraet o1 2
(a) TRABERRST & (b) ORe Wit F1(c) T TSR 1 (d) A TET @
100.Fr=rfarRaa & & geraw 37 3ueh TEt 372 &1 Uh T I B
(a) “HYEHA HET — THATYO! B HET | (b) U H TS BAT — Fau H & §5d IgL-TeITeh 2T |
(c) T3 HARAT — IR AT | (d) *372 AT — TEes ! BT |
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